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Air Review(Day 1) Name:
PART A:Solving Equations

Rules to Remember

1 Parenthesis E x g nnnn t M Ith atio D Addt S ubtractio
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2. Exponent Rules

* x2. xP=xa@*b

Xa_ a-b
* o™X

#(x%)" = X
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3 : First Outside Inside Last

(4m+T2m =)
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4. Adding/Multiplying Terms

Ex. @ il@

&

4x3.4x3

Hyx2x® by
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5. Factor
ax2+bx+c=0

/e@d Grouping Method @
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6. Quadratic Formula

ax?2 +bx +c =0

x=-bt \' b2-4ac

2a

v
Solve for x: 3x +8x+1 %
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The equation shown 1s used to find the force of gravity, F, between two objects, where

e G 1s the gravitational constant,

e m; and m, are the masses of the two objects, and

l@t&distance between the two objects. J

Gmym
F=—%

7L

Which equation correctly shows the cﬁstance between the two objects?}

\I_ l
e r = C?mlml/
G \_GM1M f

’=‘MEGmez r F = @ ! M'],

An equation 1s shown.
$ S

3x+§§7—2x5 — \Sx+ 4= 39-(0¥
, , Yo + 10X

What is the solution to the equation? —
ASX+ 4 = 35

_~4 —=v
*= 3 T

X= S
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An expression 1s shown.

(2x — 3) + [45GX ~2)]

Which expression 1s equivalent to the given expression?

® or—1 AX=3 + 1Ax*+ B x
B 14x+5 ]A)(l(— 10 X—3
© 12x2+2x-1
@ 12x2+10x-3

/-;msld.L

B
)
3

0 V16®
0 (5@

s _ N
@ aeash ) b = b

="

L aeaed) \

Select all of the expressions that are equivalent to 162 +— O0ULts 1 Aa

(f)) v
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PART B: Functions/Lines
Defl n |t|on A fu nCt|On is an equation which shows the relationship

between the input x and the output y and where there is exactly one output for each input.

Input variable (x) = Independent variable = Domain
Output variable (y) = Dependent variable = Range

; ' relation where every domain 00
Function- - has exactly one range ()
2 ¥ does not repeat

b DatEaE R e L il T o
H Bgaats WHIE k [

=l *Ne egra
= LI g5Tg

-'-'-_;i. TERE @5';-;'4
{3 1), (370, &L 100} @nﬂ, (-2, 100}
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Line Of beSt f|t A line on a graph showing the g ection of
points seem to be heading DesmOSE y1 ~ MXH + b )

X1y
0 |-5
12
2|8
3|25
4 |77
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y=mx+b Slo Pe- w4

Ax+By=C S+,

Y - Y1 =mM(X - Xr)
Fo\n-\--S‘OPL

Find the equation of the line that goes
through@and has afslope of -3, Use

slope intercept form. M
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What is the slope and y-intercept of
2x+8y=20
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Find the equation of the line that goes through
(3, -7) and (8, 2). Use point slope form.
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The graphs of two functions, f(x) and g(x), where g(x) = f(x) + h, are shown.

’ >

a—ﬁ'\\ T

0 2 4 &

X

Based on the graph, what is the value of #?

April 19, 2018

Henry places x marbles into an empty bucket. Each marble has the same weight.

The weight, in ounces, of the buckg and za.rbles can be calculated using the expression shown.

3x+8
What does the term 8 represent in this expression? 3 Y+ %
(A the weight of each marble ) % E
( -
@ the weight of the empty bucket ? ? em
©  the number of marbles in the bucket MK ( b\[_ D)
© the total weight of the bucket and marbles ﬁ?“f\ / m S M
A LN
I TV )
/
Number of D P
Ryan works for a delivery service. The D:l;:vm; (dollars)
function f(#n) 1s used to calculate his 0
daily pay, 1n dollars, on a day when he [ 6 ]
makes n deliveries. 5 [ =Y ]
Fn) =Tn+96 | ) | 145

Use the function to complete the table _, ( O) +q (0

shown. 0 \w q b
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0

Some values for a function are shown 1n the table.

0

25

50

Which statement best describes the function?

(A It 1s linear because f{x) increases by a constant amount compared to x.
(8 It is linear because f{x) increases by a constant percentage compared to x.
(© It is not linear because f{x) does not increase by a constant amount compared to x.

(® Tt is not linear because f{x) does not increase by a constant percentage compared to x.

A

&~ O

KW

‘Which graph represents a function whose domain is the set of non-negative real numbers?

©

/

5 -4 3 2 -10
| L

-2
-3

-4

A.
B.

e e N e N e

days

Trent plants a sunflower that is 6 inches tall. The sunflower is expected to grow at an average rate of 1.5 inches per day during the next month.
A. Create an equation that Trent can use to find the number of days, x, it will take the sunflower to grow to a height of 45 inches.

B. How many days will it take the sunflower to grow to a height of 45 inches?
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Bryson collects data on the depth of a river at various points and the velocity of the river at those points. His data have
a correlation coefficient of —0.9382.
Which scatterplot could represent Bryson’s data?
A y (c y
!
T 2.5 T 2.5
5 &
§ 2.0 . .. F § 2.0 -
;E- 1.5 * ? 1.5 - "
. .
= 1.0 3 = 1.0 -
F o* = .,
9 0.5 . g 0.5 .
< hd HPY ] * - X
> 0 2 4 6 8 1012 > 0 2 4 6 8 1012
Depth (feet) Depth (feet)
® y ® y
!
T 25 T 2.5
& - _° 5 °el®
2.0 . 2.0 ™
: . g
% 1.5 $ 5
L]
= 1.0 3 < 1.0 °
. .
% 0.5 A % 0.5
o ™ [ ] [e] . ™
T ? . 0] . . .
- - X
> 0 2 4 6 8 1012 > 0 2 4 ¢ 8 1012

Depth (feetl)

Depth (feet)

Some of the steps in Raya’s solution to 2.5(6.25x + 0.5)= 11 are shown.

Statement Reason
1.2.5(6.25x+0.5)=11 1. Given
2.
3. 3. Subtraction property of
equality
4. x=0.624 4. ?

Closure property

Select the correct reason for line 4 of Raya’s solution.

Distributive property

Addition property of equality
Division property of equality
Symmetric property of equality
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